asym_atl1/ppm {ok cut} asym_atr1/ppm {ok cut} asym_atl1/ppm:asym_atr1/ppm {ok_cut}

= - 10000
| htemp sl htemp |
1600 — u -
i 1600 — i
1400~ Entries 44668 _ Entries 44668 I
- 1400 5000
1200 - I
i 1200 — i
10001 Mean —-6.177 _ Mean —6.792 i
B 1000 — 0
800 8003_ I
- Std Dev 2341 - Std Dev 2853 i
600— 600 u
- - ~5000 -
400 400 — I
200 - 200 [ I
B _ 10000 —
GIII | I I I II IIII_.-I1_|IIIIIIIIIIIIIIIIIIIII IIIIIIIIIIIIIIIIIIIIIIIIIII
—-10000 —-5000 0 5000 10000 —1%000 —-10000 -5000 0 5000 10000 -15000 -10000 —-5000 0 5000 10000
asym_atl1/ppm asym_atr1/ppm asym_atr1/ppm
(asym_atl1/ppm-asym_atr1/ppm)/2 {ok cut} (asym_atl1/ppm+asym_atr1/ppm)/2 {ok cut} asym_atl1/ppm:asym_atr1/ppm {ok cut}
1600 — p 1800 — p i
- - - Entries 44668
1400 Entries 44668 1600 Entries 44668 B -- I i
1200 - 1400 o= I II III f ¥ +++++++++I++++I+
- : - I Mean —-6.792
1000 - Mean 0.3075 1200 — Mean ~6.484 i
- B ~1000 —
B 1000 — -
800 — - - Meany  -6.177
= Std Dev 1872 800 — Std Dev 1818 —2000 —
600 |- : i
B 600 — - Std Dev 2853
- - —-3000 —
W00r 400 - -
- : - Std Devy 2341
200 — 200 — —-4000 —
GIIIJ_ | IIIIIIIIIIIIIIII | _IIIIII IIIIIIIIIIIIIIIIIIII IIIII _IIIIIIIIIIIIIIIIIIIIIIIII_III
—-8000-6000-4 0 2000 2000 4000 6000 —8000—6000—4000—2000 0 2000 4000 6000 8000 -15000 -10000 -5000 0 5000 10000

run73 2 BGOW"‘NF TR ratecheck ‘raw postpan.png




asym_atl2/ppm {ok _cut}

2000

1800

1600

1400

1200

1000

800

600

400

200

hfemp

Entries 44668

Mean -42.35

Std Dev 7251

J.L|IIII|

| 1 [ | | I
—4%00&3000&2000&10000 0

10000 20000 30000 40000

asym_atl2/ppm

(asym_atl2/ppm-asym_atr2/ppm)/2 {ok cut}

2200
2000
1800
1600
1400
1200
1000
800
600
400
200

ntemp

Entries 44668

Mean 7.48

Std Dev 1798

—1%000

run7392 ﬁﬁﬁ"’”’“ﬁl’F

—5000

5000

2R r

1600

1400

1200

1000

800

600

400

200

0

asym_atr2/ppm {ok _cut}

ntemp

Entries 44668

Mean —57.31

Std Dev 8516

LIIII

-40006-30000-2000G-10000 O

1800

1600

1400

1200

1000

800

600

400

200

10000 20000 30000

asym_atr2/ppm

(asym_atl2/ppm+asym_atr2/ppm)/2 {ok cut}

ntemp

Entries 44668

Mean -49.83

Std Dev 7702

000—30000—20000—1 0000 O

10000 20000 30000

atecheck “ratpostian.png

40000

30000

20000

10000

10000
20000
30000

-4000%

30000

20000

10000

10000

20000

30000

asym_atl2/ppm:asym_atr2/ppm {ok cut}

40000-30000-20000-10000 O

10000 20000 30000

asym_atr2/ppm

asym_atl2/ppm:asym_atr2/ppm {ok cut}

htemp

Entries 44668

Mean —57.31

Meany 4235

Std Dev 8516

StdDevy 7251

—-40006-30006-20006-10000 O 10000

|IIII|II
000030000




reg_asy r'n_aﬂ 1/ ppm {Ok_cu’[} reg_asy m_a’[r'l / ppm {Dk_Cu'[} reg_asym_atl1/ppm:reg_asym_atr1/ppm {ok_cut) reg_asym_atl1/ppm:reg_asym_atr1/ppm {ok_cut)

2 1 ndf 35.85 /39
! h’[elllp 18001~ h’[elllp 10000 |
1600 i - _ oL p0 ~2.156 + 11.210
- 1600 - | B |
1400:— Entries 44668 140 D:— Entries 44668 i pl  —0.004367 + 0.004617 1
; : 5000 S et DI 1T
— = B B i
1200 12001 I -] H " HJ[H
- Mean -5.661 - Mean -5.951 - i [ 11
1000~ 1000~ B —-1000—
i - 0 i
800— EDD__ [ B
i Std Dev 2315 i Std Dev 2772 B —2000 [
600 600 I B
- : ~5000 — i
400 4001 B ~3000—
200~ 200 — i A | | _4000— -

i B 10000— i -
DlIJ. ] ] | J.Ll Dllll II|IIII|IIII|II |II III|IIII|IIII|IIII|IIII|II III|IIII|IIII|IIII|IIII|II
—10000 -5000 0 5000 10000 —10000 -5000 0 5000 10000 —-10000 5000 0 5000 10000 —-10000 5000 0 5000 10000

reg_asym_atl1/ppm reg_asym_atri/ppm reg_asym_atri/ppm
(reg_asym_atl1/ppm-reg_asym_atri/ppm)/2 {ok_cut} (reg_asym_atll/ppm-reg_asym_atri/ppm)/2:Entry$ {ok_cut} (reg_asym_atl1/ppm+reg_asym_atr1/ppm)/2 {ok_cut} (reg_asym_atl1/ppm-+reg_asym_atr1/ppm)/2:Entry$ {ok_cut)

: htem | htemp |
1800 p A  x 1800 8000¢ x x

- L x 3 X %X - - o s XX
1600 — 6000~ % s & }{ix}}% sy E 6000 — HOHMK S Txx xxx

- _ [ XX XxXXT x%gg:x;g :x: CRERTHTHK 1600— _ L X X KR KKK ngx}{ KHKK KK &

- Entries 44668 L TTT T TTTTTTITITT N Entries 44668 - ATTTE TR XXX TR T
1400F 0000 14001 4000 T
1200 2000 - -

- Mean 0.1447 i 12001 Mean -5.806 2000r
i L
800~ StdDev 1807 ~2000 800 StdDev 1805 20005
6001 _4000[- 600~ 4000 _

_ i ool XN ENR XXX R L3 o F R L el kv oo+l
o oo ESRERES o oo R RIS

i - X XX P S i - s :x e
200 i g * % 200 - X%

- -8000— * - -8000— *

_I |I I|III|III|III|III|I II|I _III|IIII|IIII|IIII|IIII|IIII|IIII|IIII|III1“3 _II | 1 1 I|III|III|III|III|I |ILI|I _III|IIII|IIII|IIII|IIII|IIII|IIII|IIII|III:":1U3

—EDD DD—4DDD—2DDD 0 2000 4000 6000 8000 40 100 —EDDD—EDDMDDD—EDDD 0 2000 4000 6000 8000 30 40 50 60 70 80 90 100

r u n 7 9235?!’00:0 regATm'If’;:Iﬂ R rate c h ec k reg p OSTTp a n p n g (reg_asym_atl1/ppm+reg_asym_atr1/ppm)/2 Entry$



4000

3500

3000

2500

2000

1500

1000

500

2500

2000

1500

1000

500

reg_asym_atl2/ppm {ok_cut}

- Entries 44668
:_ Mean 2.845
- Std Dev 2189
% I| IJIlI I|IIII|IIII| ILIIIIlIIIIlI
—-200081500810000-5000 © 5000 100001500020000
reg_asym_atl2/ppm
(reg_asym_atl2/ppm-reg_asym_atr2/ppm)/2 {ok_cut}

i Entries 44668
i Mean 0.504
I Std Dev 1577
B | |

—1 DDDD —EDDD EDDD 1 DDDD

reg_asym_atr2/ppm {ok_cut}

1800 htel | |p
1600
- Entries 44668
1400
1200
B Mean 1.837
1000~
S00 StdDev 2381
600
4001
200
U_' | | | | L
10000  -5000 0 5000 10000
reg_asym_atr2/ppm
(reg_asym_atl2/ppm-reg_asym_atr2/ppm)/2.Entry$ {ok_cut}
10000 X
= X
O
— U
U
B Higg
S
I s Hxigﬁﬁ g RHH&H g
2000~ i %}: E?ﬁﬁ 5 50 30 S R 3 ¢ ;{EM
-
! %%% %%HH%H% %%%%%%%%%%%%% %%%
soool BOnllEE R eoiiod
| K%E s S
L #
- Hhe ¥ X
o
— U
o
B e
10000
III|IIII|IIII|IIII|IIII|IIII|IIII|IIII|III 103

40

100

20000

15000

10000

5000

-5000

10000

15000

20000

2500

2000

1500

1000

500

reg_asym_atl2/ppm:reg_asym_atr2/ppm {ok_cut}

-10000

-5000

0

l
5000 10000

reg_asym_atr2/ppm

(reg_asym_atl2/ppm+reg_asym_atr2/ppm)/2 {ok_cut}

reg_asym_atl2/ppm:reg_asym_atr2/ppm {ok_cut}

htemp

Entries 44668

Mean 2.341

Std Dev 1657

—‘| 0000

run739235*"0“60f@ﬂ”F2I2R ratecheck reg posTpan png

l
-5000
(reg_asym_atl2/ppm+reg_asym_atr2/ppm)/2

0

EDDD

l
10000

%2 | ndf 27.01 /38
p0 ~2.427 £ 10.573
p1 0.04215 £ 0.00507 1
2000 — 1l
i Lt
it
0 + *H +ﬂ#¢mﬁﬁqﬁﬁﬁhfhﬁw#ﬁﬁ'+ ﬁ
Mk i
—2000—
I 1
—4000—
—EUUD__Il ] | | | | | 1 ] ] | | | 1 1 | ] | | | |I
—-10000 -5000 0 5000 10000
(reg_asym_atl2/ppm-reg_asym_atr2/ppm)/2:Entry$ {ok_cut}
10000 }"}{
= X
R
— L
S
B S
B X
ot Hxigﬁx L Hkﬁiﬁ L
EDDD__ S %K %ﬁﬁ HHKHHHKM§HKE AR
- EH
_so00|- B <] [ % DGR SO
. K%H . S
s #
= e WM
et
— S
=
B e
10000 —
III|IIII|IIII |IIII|IIII|IIII| IIII|IIII|III
30 40 50 60 70 80 90 100
Entry$

x10°



